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o FUAT T I @ & 5 F97-97 F JfaT 7B 16 T T97 17 &/
Please make sure that the printed pages in this

question paper are 16 in number and it contains
17 questions.

o Jo7-5F § 2fe &Y @l 3R 34 T4 FE TR TUT A B B
TH-GITH & Jeq-9% T ford |
The Code No. and Set on the right side of the
question paper should be written by the candidate
on the front page of the answer-book.

o U F97 FH T [T@T & F G &, F97 & BHIE Fa9
ford |
Before beginning to answer a question, its Serial
Number must be written.
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o FTR-IIH & &= 7 @redl g=77/9+ 7 BIs|
Don’t leave blank page/ pages in your answer-book.

o IW-YfdE & Sfaked @F o= T & el o
STaIFATAR &1 [ off for@r Gav 7 #c|
Except answer-book, no extra sheet will be given.

Write to the point and do not strike the written
answer.

o F1ereff o1 A To F9T-F 9T 37a9T fard |

Candidates must write their Roll Number on the
question paper.

* PYI J9TI # T a4 G Y I8 Gead & o [ 797-9 g
7 T8 & gfter & S 3@ %= § #iF ot Frar @Ew
Tt fFar s
Before answering the question, ensure that you
have been supplied the correct and complete

question paper, no claim in this regard, will be
entertained after examination.

HTHT fe9r -
General Instructions :
() adr g s &1
All questions are compulsory.
(i) SATT-TTT 17 7978 T Famw@uel - o, @, @
§R g 7 qie g 8l
This question paper consists of 17 questions

which are divided into four Sections : A, B,
C and D.
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Section A’ :

queg ‘q’ :

Section B’ :

que ‘q’ :

Section 'C':

Jqug ‘T :

Section D' :
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M g 7 gF g & fowe
Tgladed! TBR & 16 (i-xvi) 97T &
% 917 1 3% T &1

This Section consists of one
question which has 16 (i-xvi)
parts of multiple choice type.
Each part carries 1 mark.

59§ 4 2 § 6 d% FT qr 797
& Hcd® §9T 2 Sl T 8l

This Section consists of five
questions from 2 to 6. Each
question carries 2 marks.

ST H 7 12 TP P 5 F97
g JF G974 3 BT 8l

This Section consists of six
questions from 7 to 12. Each
question carries 4 marks.

57 @8 4 13 § 17 7% F qid
97 & 7c9% 997 6 3 @ 8l

This Section consists of five
questions from 13 to 17. Each
question carries 6 marks.

(iii) 59 §97-97 § #F qO7 S f[AET T8 & v ot
4 3F ard g g9 H TI 6 SIH qId g geA H
SR fawa faar gor &1

There is no overall choice. However, an
internal choice has been provided in two
questions of 4 marks and in two questions

of 6 marks.
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gug — I
SECTION - A
1. () =7 g oRey den & R [ & ? 1
2 7
(A) 5 (B) 20
© = (D) & B T

Which of the following rational number is a
terminating decimal ?

2 7
(A) 5 (B) 20
(C) 3 (D) None of these
14
(i) A 26 R 91 & HCF 13 & @ 9@ LCM
B 1
(A) 182 (B) 2366
(€) 14 (D) T4 q B T

If H.C.F. of 26 and 91 is 13, then their LCM
is :

(A) 182 (B) 2366

C) 14 (D) None of these
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(i) T I OF agUS & A% 2| 3H GgUS b AT Al
qE E 1

y
. /0? /.,
A) O y' B) 1
€ 2 (D) 3
The graph given below is graph of a

polynomial the number of zeros of this
polynomial is :

S

x' ‘/ OJ/ \/ X
y

y

(A) O B) 1
€ 2 (D) 3
(iv) AR 22 - 5x+2F R B AN : 1
(A) -5 B) 1
S
(C) 2 (D) -1
Sum of zeros of the quadratic polynomial
2x° - 5x+ 2 s :
(A) -5 B) 1
© > D) -1
2
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(v) Was  wHEo 2x-3y+9=0 3
4x-6y+ 18 = 0 ERI TR @MU ST H: 1

(A) gfo=ser & (B) EUWHE
(C) TAMR & (D) T4 ¥ $iE T8I

Linear equations 2x-3y+9=0 and
4x -6y + 18 = 0 represents lines :

(A) Intersecting (B) Coincident
(C) Parallel (D) None of these
(vi) THIERU 2x-y=5%MR3x+y=10&H A& : 1
A x=1,y=3
B) x=3,y=0
(C) x=3,y=1

(D) 39 ¥ FIE I

Solution of the equations 2x — y = 5 and
3x+y=101is:

(&) x=1,y=3
(B) x=3,y=0
(€ x=3,y=1

(D) None of these
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(vii) FHET  2x2+x-6=0 &  fafdeda

(Discriminant) & : 1
(A) 49 B) 7
(©) -12 (D) ¥ § FE T
Discriminant of equation 2x?+ x—- 6 = 0 is :
(A) 49 B) 7
(C) -12 (D) None of these

(viii) & T A e fT 2x2 + ke + 3 = 0 % G &
CRGERE 1
(A) 0 (B) =24
(C) +2V6 (D) *+6

The value of k for which the roots of
2x?%+ kx +3 =0 are equal, is :

(A) O (B) =24
(C) +2V6 (D) *+6
(ix) THET3x2+ x-4=0HYA 8 : 1
4 4
(A) _1’§ (B) 1’_§
C) 3,-4 (D) F7H § %1 T

2703/ (Set : A) P.T.O.



(8) 2703/ (Set : A)

Roots of equation 3x2 + x— 4 = 0 are :

4 4
(A) -1, 3 B) 1, ~3
(C) 3,-4 (D) None of these

(x) A.P.0,-4,-8,-12, ........ F 15T ICE: 1
(A) 56 (B) 60
(C) -56 (D) -60
15th term of A.P. 0, -4, -8, -12, ......... is :
(A) 56 (B) 60
(C) -56 (D) - 60

xi) A.P.aa+d a+2d, ... HIMH n T b
AT o G fefa| 1

Write the formula for the sum of first n
terms of A.P.a,a+d,a+2d, ............. .

(xii) T BT A g G2 & 0 F o9 § PN-F A

Proyer g & 7 1
(i) 6 9T, 8 §HI, 12 QHT (i) 5 GHI, 7 @41, 9 |
(iii) 3 9T, 4 &I, 6 QAT

(A) (i) 3R (i) (B) (i) 3R (i)
(C) (i) o (i) (D) 398 & r§ W&l
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Sides of some triangles are given below.
Which of the two triangles are similar ?

(i) 6cm, 8 cm, 12 cm (i) 5 cm, 7 cm, 9 cm
(iii)) 3 cm, 4 cm, 6 cm

(A) (i) and (i) (B) (i) and (iii)
(C) (ii) and (iii) (D) None of these
(xiii) &7 THEY B9t & AT 4 : 9 F U@ A &, A

&k S T ST © 1
(A) 2:3 B) 9:4
(C) 16:81 (D) 81:16

Sides of two similar triangle are in the ratio
4 : 9. Their areas are in the ratio :

A) 2:3 B) 9:4
(C) 16:81 (D) 81:16

(xiv) TS FHRIT BT @ g0 4 J oK 5 W E, @
I forepuf ot 719 & - 1
(A) 41 9 (B) 3 &
(©) o (D) & & #rE &

If two sides of a right angle triangle are
4 cm and S cm, then the hypotenuse of the
triangle is of length :

(&) V41 cm (B) 3cm
(C) 9cm (D) None of these
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(ov) fOgelt (-5, 7) SR (-1, Q) FATA IR

(A) /52 B) /32

(C) 116 (D) &TH & HiE &

The distance between the points (-5, 7) and
(-1, 3)is:

(A) /52 B) /32

(@) J116 (D) None of these

(xvi) TRE3T (x,, yy) 8 (x,, y,) BT NS AT TGTETE &Y
m, : m, ¥ RS AT & ar foeg & Mdai®
& g et 1

Write the coordinates of the point dividing
the line joining (x;, y;) and (x,, y,) internally
in the ratio m; : m,.
gug -
SECTION-B

2. 60 AR 84 FH AW YOGS & JUHEST & &I § &h
${ 3T 376 HCF o1 51 Hifg| 2

Express 60 and 84 as the product of prime
factors and also find their HCF.

3. fg AT & 34 2/5 UH Ry g 8| 2

Prove that 3 + 2\/3 is an irrational number.
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4. @%&HE@EWWWS@%%@T%% 2

Find a quadratic polynomial whose zeros are

landl.
2 3

5. k & (&8 AN & [0, THE 4x + ky + 8 = 0 3R
2x+ y+ 4 =0 & A& & ol 2

For what value of k, the equations 4x+ ky + 8 =0

and 2x + y + 4 = 0 have a unique solution.

6. AR 0T (A. P) 3, 8, 13, 18 .......... FT BHIF-AT
0% 78 & 7 2
Which term of the A. P. 3, 8, 13, 18 .......... is
78 ?

|uT — |
SECTION-C

7. Zlﬁp(x) = x3-3x%+ 5x—35blfg(x) =x2+x-29
AT F&T ST, A ARTHS T B S B | 4
If p(d=x>-3x?+5x-3 is divided by
g0 =x*+x-2, then find quotient and

remainder.
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8. @%%@W%wmmﬁlmwéaﬁw

%%@W%waﬁsﬁsﬁmw%la@%m
EEI 4

A fraction becomes % when 1 is subtracted from

its numerator, and becomes % when 8 is added

to its denominator. Find the fraction.
pe)

OR

ABCD U&% &d IgHd & BEH LA = (4y + 20)°
/B = (8y - 5)°, ZC = (-4x°, 4D = (-7x + 5)°
ERISEIRICRVEE IR

ABCD is a cyclic quadrilateral in which
ZA=(4y+20)°, 4B = (3y - 5)°, ZC = (-4x°,
/D= (-7x+ 5)°.

Find the angles of the quadrilateral.
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9. I FHANT GIHS Ui HIG HiWQ o a0 & I
313 &l 4

Find two consecutive positive whole numbers
whose sum of squares is 313.

10. 636 I IT & & [T A. P. 9, 17, 25, .......... &
foba Ug o =1ley ? 4
How many terms of A. P. 9, 17, 25, .......... will

make the sum 636 ?

11. 1.2 Ho & THTE A Uh Tkl e a Uh TH & IR
W 1.5 Wo/fo o o/ § g @ & A T YA &
4.5 "o H SAE W &, T 4 Yo T IT WS 3 BIAT HI
REIEE IR 4

A girl of height 1.2 m is walking away from the
base of a lamp post at the speed 1.5 m/sec. If
the bulb is at 4.5 m height from the ground, find
the length of the shadow of the girl after 4 sec.

e
OR

I 1 FHEY YA & &ehel SR 2, O g B fe

et wafraH & 2| 4

If areas of two similar triangles are equal then
prove that the triangles are congruent.
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x-HE W I8 fag o w2, - 5) 8k (-2, 9) &
U (Equidistant) & 4

Find a point on x-axis which is equidistant from
(2, -5) and (-2, 9).

qug -
SECTION - D

2 AfATT 3R 5 J6¥ U HAIQ & B & q-a17 4 &7
¥ QU &R G &, T 3 ARy 3R 6 I 56! 3 i
¥ QU & &6 8| 71 BT & O srdhell Afeer 56 w1
B QU A | (b §99 ot | G 34 & B &R § Th
96N &l febeaT &g o ? 6

2 ladies and 5 gents can complete an embroidery
work in 4 days, while 3 ladies and 6 gents can
complete it in 3 days. Find out how many days a
single lady can take to complete it. Again how
much time a single man will take to complete it ?

3 99 gd Ifear & g (it H) #1 FohH AR T F 5 a9
qsmm(ﬁﬁ)%wwﬁw%%lwﬁaﬁﬂﬁ
g (aot §) =a S| 6

The sum of the reciprocals of the age of Udita
3 years earlier and reciprocal of the age 5 years

after from today is % Find her age today in

years.
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15. & AP, & 9T 9T 15 © 3R 9% 999 10 Tl &
T 125 &, O ITHT 10a7 U8 TR HIH n T&T & I o

it 6

Third term of an A.P. is 15 and sum of its first
10 terms is 125. Find its 10th term and sum of
first n terms.

SEEI
OR

U% R aTar O g § 440 ofR omed 9% § 580 &R
P AT BT &l AT I% a9 IATET H THaa &9 9
U Witad den 7 gl &t 8, @ SEa 109 ¥ &
ITE 3R 10 a9 T el I S Hhi | 6

A car manufacturer produces 440 cars in 4th
year and 580 cars in 8th year of its production.
If production increases equally every year in a
definite number, find its production in 10th year
and total production of 10 years.

16. 3 AD 3R PM FH: AABC 3R APQR &1 Wiftaad &,

4 AABC ~ APQR, @1 g #ifvg ¢ 6
AB _ AD
PQ PM

If AD and PM are the medians of AABC and
APQR respectively and AABC ~ APQR, then prove
that :

AB _ AD
PQ PM
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o
OR
3T ABCD & oI Red o @ M5 8l O# A, B, C
S8R D & forqmar o & @1 Ryg &t 6

oB*+ 0oD?=0A” + OC?

O is any point inside the rectangle ABCD. O is
joined with A, B, C and D. Prove that :

OB” + 0D’ = 0A” + OC?

17. T& BT ABC & i A, B, C A (2, 1), (0, 3) 3R
(0, —1) 81 If% SMeli BC, CA 3R AB & e fawg HAn:
D, E 3R F& @ ADEF &l &5T%d 37Td ST iR AABC
3R ADEF & &%l &l STUTd H1d S| 6

If vertices of AABC, A, B and C are (2, 1), (O, 3)
and (0, —1) respectively. If D, E and F are middle
points of BC, CA and AB, then find area of ADEF
and also the ratio of areas of AABC and ADEF.
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